
Запиши число в окошко, чтобы 
равенство стало верным

1 вариант 2 вариант
⚫ 39 +          = 555
⚫ 296 +       = 404
⚫ 354 -        = 250
⚫ 128 -        = 62
⚫ 345 -        = 299 

⚫ 107 -       = 48
⚫ 900 -       = 115
⚫ 450 -       =  78
⚫ 129 +      = 329
⚫ 320 +      = 540



Проверь соседа!

1 вариант 2 вариант 
⚫ 39 +  516 = 555
⚫ 296 +108 = 404
⚫ 354 - 104 = 250
⚫ 128 – 66   = 62
⚫ 345 – 46   = 299 

⚫ 107 –  59  = 48
⚫ 900 - 785 = 115
⚫ 450 - 375 =  78
⚫ 129 + 200 = 329
⚫ 320 + 220 = 540

0 ошибок – «5»
1 ошибка – «4»
2 – 3 ошибки – «3»
4 – 5 ошибок – «2» 


